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Paper - 2 M'l'll5

AQ - 2849

JMax. Marks : tO

P Pagcs : 2

Timc : 'lhrc€ Ilours I

Notc (t)

(2)
(3)

(4)
(5)
(6)
(7)

Separate answer book must bc used for cach Scction in the subject Geology,
Ilngincering marerial 9f civil branch and Separate answer - book must be usld
for Sectioo A and B in Pharmacy and Cosmetlc Tech.
All questions carry marks Ls indicated.
Answer lhrce questions from Section A and thr.r questions from Section
B.
Due qedit will bc givcn to neatncss and adequate dimensions,
Assume suitablc data whcrevcr neccssary.
Illustratc your answcr wherevcr necessary with the help of neat sketches.

Use pen of Blucy'Black ifll/rcfill only for writing the answer book.

I

SECTION A

(a) What are imporBnt applications of CIrD in enBinccring ? Explain in dctail.

,6
(b) Writc thc energy equation and 

"l.o "*pl"i, 
the tcrms involvod . 7

2, Deriyc continuity equation in cancsian co - ordinat€s l4

9

4

3. (a) Enlist discretization methods and explain any onc of lhem \yith cxamplc

(b) Ilxptain stability analysis in bricf

4 (a) Shtc and explain the differcnce bctween cxplicit and implicit mcthods with
suitsble example. 6

(b) Explain Gauss Seidel mcthod used in computational fluid dynamics. 7

AQ-2{49 P.T.O.

www.sgbauonline.com

www.sgbauonline.com

http://www.sgbauonline.com
http://www.sgbauonline.com


5. Dcrive Navicr Stokcs oquation for -mcomprcssible flow l3

l3

l3

SECIION B

6. Using 'laylor scrics cxpansion, dcfive finite differcnce formulation of l-ax -
Wendroff mcthod. 13

Explain explicit rclaxation tcchniquc.

llxplain t}tc philosophy of prcssurc corrccr.ion tcchrique

7

6

7. (a)

(b)

8. Considor flow betwcen two parallcl platcs scparatcd by a distance 2 H. l'hc fluid
is driven bctwccn the platcs by an applicd pressure gradient in the X - dircctiqn.
Assumc laminar flow of a constant dcnsity nuid wifi constant viscosity. Determine
thc vclocity distribution of t}lc fluid as a function of velocity. 14

9. Comparc the first two stcps of the numc cal solution of the inviscid Burgcrs
equal.tun 0 < x < t ,I > 0.

du d('/,u2)

-+ 

' =llbr dx

suhjcct to initial bouridary condition

u(x.0)=x . x>0
u(0.t)=0 , t>0

compute thc numcrical solution with dle exact solutiofl :

x

I +1.

taking Ax= 0.2 and * = 0.5

10. Iixplain Altemaling DLcction Implicit tcchniquc.

-----*-
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